HERKULESBUBEN
L X K2

RANGLISTE MITGLIEDER +

(MITGLIEDER MIND. 36% GESPIELTE SERIEN)

99. SPIELABEND AM 07.12.21

FR. 03. DEZEMBER DI. 07. DEZEMBER || GESPIELTE SERIEN VERL
RANG NAME SCHNITT| +/- || Ew |vere| -
1.seR.[2.SER.| GEs. |[1.ser.[2.seR] Ges. | A [ v [ %

= |Lomsg, mi. , s |6 1.110 103] 1,0 | 5,2

1 | = [BAUCKLOH, A. —_online — o | 86 | 46% | 1.048 112 | 1,4 | 338
2 | = [BAUCKLOH, W. o | 82 |aa%| 1.010 95 | 0,7 | 4,0
- |HonAUER 1.173 | 1.498 4 | 6a |36%| 998 |+11 |[109] 18 |30

4 |RuHKAMP a | 22 993 11,8 | 2,9 | 45

- |BrRAUNHAHN 2 | 36 985 12,0 | 2,6 | 4,1

4 [ = |kurinG 6 | 90 | 51%| 963 108 1,9 | 3,4
1 |eLacow 960 1.073 | 824 6 |126 | 71%| 9aa | = |[101] 16 |30

6 |1 |v. Roos 1.356 | 1.015 0 | 86 |a6%| 9a1 | +6 |[02] 17 |32
= [mauL a | 29 940 9,7 | 1,8 | 53

7 | [knGFEL 809 | 324 0 |121|65%| 938 | -6 |f09] 2130
- |BrEITFELD a | 23 922 95 | 1,9 | 4,2

= |winTer 0o | 15 904 10,7 | 2,5 | 3,1

= |skwarski 2 | 14 903 109 2,2 | 49

- |GEssnErR 4 | 28 869 9,0 | 1,6 | 456

= |oeLuTH 307 1.256 | 608 a |179 | 98%| 831 | +«2 ||87 |14 |40

- |cAnTE 1.944 377 | 899 4 |177 | 97%| 816 | 2 |[103] 26 |32

= [kem 4 | 19 793 75 | 15 | 58

- [FLoTER 0 | 52 790 89 |17 |30
10 | = |KUDERLING 375 630 | 781 2 |116 | 63%| 780 | -1 || 821637
= |EwerT, UWE 625 2 | 24 776 72 |13 |54

= |[krATZSCH 2 | a2 770 75 | 1,1 | 3,7
11| = |KOSSINGER 1.140 1.285 | 606 2 |97 |sa%| 740 | +2 |72 [ 10 |20
12| = |PORTER 214 | 824 2 |81 |a5%| 703 | 4 |[79 |17 ][22
- |BLAUERT, A. 4 | 19 536 51 | 1,2 | 45

= |BoHm |2 | 1% | 1270 16,0 | 20 | 2,0

- |pannEr - | 8 | 4% | 1233 135 2,0 | 4,8

= [trieB - | 9 | 5% | 1.09 108 1,8 | 4,9

- |Gassner 924 1 | 1% | 924 80 | 1,0 | 80

= |LanGErR - 16 | 9% | 872 91 | 1,4 | 45

- |GRiEBEL 1.303 |2 | 1% | 795 85 | 1,5 | 55

- |s6LTE - |8 | a% | 697 9,9 |31 |35

= wieser |2 | 1% | as6 9,0 |35 | 30
DURCHSCHNITT | 889 9,7 | 1,8 | 4,2




